INSTALLATION
MAINTENANCE

Applique murale
Wall fixture

INSTALLATION

REMOVE 2-WAY SCREW [A] (M4 X 0.7 X 18mm) TO RELEASE THE MOUNTING
RECTANGULAR CANOPY [D].

1- INSTALLATION ON 4” JUNCTION BOX
INSTALL THE UNIVERSAL CROSSBAR [B], AND MAKE ALL WIRING CONNECTIONS.

1a-DIRECT INSTALLATION (BX, FLEXIBLE ARMOURED CABLE)
ATTACH THE FLEXIBLE ARMOURED CABLE FITTING AND CABLE (SUPPLIED BY OTHERS)
TO THE MOUNTING CANOPY [D]. MOUNT IT TO THE WALL WITH 2-WAY #8 MOUNTING
SCREW [F] & ANCHOR [G] AND MAKE ALL WIRING CONNECTIONS.
GO DIRECTLY TO STEP 3-

2 - INSTALL SQUARE CANOPY PLATE [C] AND THE MOUNTING RECTANGULAR
CANOPY [D] TO THE JUNCTION BOX USING 2-WAY MOUNTING SUPPLIED SCREWS [E].
SECURE IT INTO PLACE WITH 2-WAY #8 MOUNTING SCREW [F] & ANCHOR [Gl.

3 - ASSEMBLE THE BALLAST HOUSING [H] TO THE MOUNTING RECTANGULAR CANOPY
[D] WITH 2-WAY SCREW [A]. USE [A*] FOR LED ONLY.

4 - REMOVE 2-WAY SCREW [1] (M4 X 0.7 X émm) TO RELEASE THE END CAP.
SLIDE OTHER END OF THE GLASS SHADE [K] AGAINST THE OTHER END CAP
AND HOLD GLASS SHADE IN POSITION.

5 - REINSTALL THE END CAP [J] WITH 2-WAY SCREW [I].

6 - SECURE THE GLASS SHADE [K] WITH 2-WAY M4 SET SCREW [L] BY USING PROVIDED
ALLEN KEY [M] .

225 de Liege Ouest, Suite #200
Montréal (QC),Canada H2P 1H4

O EUREKA

Tel:514.385.3515 Fax:514.385.4169

INSTALLATION

AVANT DE COMMENCER D, 'EVISSER LES 2 VIS [A] (M4 X 0.7 X 18mm) POUR LIBERE R
LA STRUCTURE DE CANAPE RECTANGULAIRE [D.]

1 - INSTALLATION DE LA BOITE ELECTRIQUE 4"
INSTALLER LA PLAQUE UNIVERSELLE [B] ET FAIRE LA CONNEXIONDES FILS.

1a- INSTALLATION DIRECTE (BX, CABLE FLEXIBLE ARME])
INSTALLER LE CONNECTEUR POUR CABLE ARME ET LE CABLE (NON-INCLUSE)
SUR LA STRUCTURE DE CANAPE [D]. VISSER LENSEMBLE DE STRUCTURE
DIRECTEMENT AU MUR GRACE AUX VIS DE MONTAGE #8 [F] & AUX CHEVILLES [G]
ET FAIRE LA CONNEXION DES FILS. ALLER DIRECTEMENT A L'ETAPE 3.

2 - FIXER LA PLAQUE CARREE [C] ET LA STRUCTURE DE CANAPE RECTANGULAIRE [D]
SUR LA BOITE ELECTRIQUE A L'AIDE DES (2) VIS DE MONTAGE FOURNIES [E]. SECURISER
LENSEMBLE DE STRUCTURE DIRECTEMENT AU MUR GRACE AUX VIS DE MONTAGE #8 [F]
& AUX CHEVILLES [G] .

3 - MONTER LE KIT ELECTRIQUE SUR LA STRUCTURE DE CANAPE RECTANGULAIRE [D] A
L'AIDE DES 2 VIS [A]. LES RONDELLES [A*]- LED SEULEMENT.

4 - DEVISSER LES 2 VIS [I] (M4 X 0.7 X 6mm) POUR LIBERER L'EMBOUT [J].
GLISSER EN PLACE L’ABAT-JOUR EN VERRE [K] EN BIEN L’APPUYANT CONTRE L’AUTRE EMBOUT.

REMETTRE EN PLACE LE COUVERCLE [J] A LAIDE DES (2) VIS [I].

6 - SECURISER LE DIFFUSEUR EN VERRE [K] A LAIDE DES (2) VIS M4 [L] EN UTILISANT LA CLE
ALLEN [M].






